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1. The professor told the students that the primary of the project was to work together
successfully as a team.
(A) objective
(B) remedy
(C) entry
(D) heap

2. The discovery of penicillin has saved many lives. It was one of the most significant advances
in medical history.
(A) lately
(B) indeed
(C) anyhow
(D) immediately

3. From my elementary understanding of rechargeable batteries, they less energy over time.
(A) uphold
(B) discard
(C) retain
(D) abandon

4. If'you feel ill after eating, touching, or breathing in a particular substance, you are to it.
(A) insensitive
(B) afraid
(C) vulnerable
(D) allergic

5. According to the research, second-hand smoke is almost as as smoking itself.
(A) efficient
(B) aggressive
(C) edible
(D) harmful

6. Human beings should look for sources of energy to make the earth sustainable for the future
generations.
(A) commercial
(B) unreliable
(C) renewable
(D) agreeable

7. The new vaccine was made available after months of research.
(A) subjective
(B} extensive
(C) conducive
(D) productive
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8. Choose the statement which is true about Python and SPSS.
(A) Both Python and SPSS are statistical software
(B) Python is a programming language and SPSS is a statistical software
(C) Python is a statistical software and SPSS is a non-parametric paired t-test
(D) Python is a programming language and SPSS is a non-parametric paired t-test

9. Which of the following computer language is used for artificial intelligence?
(A) FORTRAN
(B) COBOL
(C) PROLOG
D) C

10. Which of the following is not a bioinformatics method to study gene expression?
{A) t-SNE
(By PCA
(C) Hierarchical Clustering
(D) MALDI-TOF

11. What does the abbreviation “ADCC” stand for in the field of immune therapy?
(A) AProgrammed Death in Cellular Composition
(B) Area Dispatch Control Center
(C) Antibody-Dependent Cell-Mediated Cytotoxicity
(D) Antibody-Dependent Cell-Mediated Phagocytosis

12. Which of the following locations is the place of protein glycosylation?
(A) Nucleus
(B) Ribosome
(C) Endoplasmic reticulum/Golgi apparatus
(D) Lysosome

13. Which of the following ligand-receptor pairings is correct?
(A) S-pike protein/ ATP-binding cassette (ABC) transporters
{B) Hemagglutinin/Sialic acid
(C) PD-L1/Platelet-Derived Growth Factor Receptor (PDGFR)
(D) CDY/CD4

14. Which of the following amino acids is able to generate N-linked glycosylation?
(A) Alanine (Ala, A)
(B) Asparagine (Asn, N)
(C) Aspartic acid (Asp, D)
(D) Arginine (Arg, R)

15. What is the main mechanism for disease prevention through vaccination?
(A) Mast cells degranulation
(B) Complement dependent enhancement
(C) Adaptive immunity generation
(D) Innate immunity generation
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16. Which of the following antibodies used in cancer treatment is an immune checkpoint therapy?

(A) Avastin (anti-VEGF antibody)

(B) Ipilimumab (anti-CTLA4 antibody)

(C) Trastuzumab (anti-HER2/neu antibody)

(D) Rituximab (anti-CD20 antibody)

17. Since 2017, Novartis receives first ever FDA approval for a chimeric antigen receptor (CAR) T-cell

cell therapy, Kymriah™ (tisagenlecleucel, CTL019), for the treatment of lymphomas and leukemias.
A modified T cell receptor with domain that can recognize the unique tumor antigens in
cancer cells.

(A) fibronectin

(B) Fe

(C) scFv

(D) fibroblast growth factor receptors (FGFRs)

18. Which of the following treatments is NOT immunotherapy?
(A) Immune checkpoint therapy
(B) Tyrosine kinase inhibitor therapy
(C) Cytokine therapy
(D) Immune cell therapy

19. Which of the following epitopes is expressed on red blood cells to determine the A. B. O blood
group? '
(A) Protein epitopes
(B) DNA epitopes
(C) Glycan epitopes
(ID) RNA epitopes

20. Hyperglycemia affects people who have diabetes. Which of the following substances is too high in
blood stream?
(A) Sodium chloride (NaClz)
(B) Oxygen (O)
(C) Glucose
. (D) Urea

21. Which of the symptoms you may not experience if you got COVID-19?
(A) Sore throat
(B) Constipation
(C) Runny nose
(D) Chills

22. The 2023 Nobel Prize in Physiology or Medicine went to Katalin Kariké and Drew Weissman for
their contribution to the development of effective vaccines against COVID-19.
(A) viral vector
(B) live-attenuated
(C) toxoid
(D) messenger RNA
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23. Preventive vaccines could spark your body’s immune response to defend foreign invaders (e.g.
viruses and bacteria). Please choose the one that does not belong to this conventional vaccine type.
(A) Influenza vaccine
(B) Hepatitis B vaccine
(C) Melanoma vaccine
(D) Chickenpox vaccine

24. A great number of commonly used drugs are metabolized by the CYP2D6 enzyme. CYP2D6 is a
highly polymorphic gene that induces different phenotypes. Which of the CYP2D6 phenotypes is
responsible for the lowest enzyme activity?

(A) Poor metabolizers

(B) Intermediate metabolizers
(C) Normal metabolizers

(D) Ultra-rapid metabolizers

25. Please choose the organ which has the most regenerative capacity.
(A) Kidney
(B) Pancreas
(C) Liver
(D) Stomach

26. When a segment of one chromosome breaks and attaches to another non-homologous chromosome, it
is called a
{(A) translocation
(B) substitution
(C) inversion
(D) deletion

27. Which type of cancer treatment is most often utilized in precision medicine?
(A) Radiotherapy
(B) Surgery
(C) Targeted therapy
(D) Chemotherapy

28. The term P4 medicine is thought to be the basis of precision medicine. medicine, as patients
are well informed about their health conditions through digital platforms.
(A) Predictive
(B) Personalized
(C) Preventive
(D) Participatory

29. Please choose the lifestyle change that may not improve your cholesterol.
(A) Increase soluble fiber
(B) Enhance saturated fats
(C) Eliminate trans fats
(D) Add whey protein
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30. Model organisms are non-human species widely used to study biological processes. They are easy to
maintain and breed in a laboratory. Which one is not the model organism we often utilize in a
laboratory?
(A) Fruit fly
(B) Zebrafish
(C) Mouse
(D) Monkey

31. Usually, phase ! clinical trial is to evaluate the of the drug candidate.
(A) safety '
(B) efficacy
(C) composition
(D) appearance

32. Usually, phase 2 clinical trial is to evaluate the of the drug candidate.
(A) safety
(B) efficacy
(C) composition
(D) appearance

33. Usually, how many clinical trial phases are needed to be completed before a pharmaceutical compary
gets drug licenses granted by the US FDA?
(A) 1 '
B) 2
O3
D) 4

34. Which regulatory authority is responsible for the safety and quality of food, drug, medical service
and cosmetics manufactured and sold in Taiwan?
(A) Pharmaceuticals and Medical Devices Agency
(B) Taiwan Food and Drug Administration
(C) National Medical Products Administration
(D) Medicines and Healthcare products Regulatory Agency

35. Which animal species are the most commonly used in animal studies during small-molecule drug
development?
(A) Rodents
(B) Macaques
(C) Swines
(D) Canines

36. Usually, how long is an innovation patent valid for after it is approved?
(A) 10 years
(B) 15 years
(C) 20 years
(D) 30 years
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37. Which organ plays the major role in metabolizing small molecular drugs in our body?
(A) Liver

(B) Stomach
(C) Intestine
(D) Colon

38, Which protein is the most abundant in blood circulation that causes plasma protein binding?
(A) Albumin
(B) Peptidase
(C) Proteinase
(D) Nuclease

39. are the active components in a pharmaceutical drug that produce the required effect on the
body to treat a condition.
(A) Active pharmaceutical ingredients
(B) Active adjuvants
(C) Active excipients
(D) Active preservatives

40. Studying mechanism of action of a pharmaceutical drug belongs to the category of ?
(A) pharmacodynamics :
(B) pharmacokinetics
(C) toxicology
(D) toxicokinetics
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